@ _Runlog_2203Kr_220326.xIsx1_RunlLog

I \ \ [ T T 1
2203Kr 84Kr31+ 70Me V. u 12.3MHz(AVF) 18G-ECR 1pnA
Run Summary Sheet : CAMAC & LabView
[ | | | | [ | Att PL2
| [Fname | start | stop |Header Ender / L{_Elapse AUk 100[10]5 [ 3 Trig |Wob |AuF |[Kap [IC1 [PL1 [ED [IC2 |Airl |Air2
SEERAT LogNote: E5exp(9)_ SSD
22/02/28
bef- 1] 21:50:00| 22:08:34 0.46 0:18:34 | SSD:Ar Gain
2| 22:09:46| 22:18:55 0:09:09 |SSD:Kr Gain sB1D &
SRERth : Beam B s
22/03/01 ZnSARY MR p47
Cap 1] 6:03:00 Cap01_ZnS Zslide mpg 50u®50 145| 200
2 Cap02_AuZnS IN,Qdef mpg
3 Cap03 51 hEE<L TH.£01,02 mpg o[ 3 0] 0
4 Cap04_WobC_R30,35,40,30 mpg
5 Cap05_Au45IN mpg
06-11 Cap06_~_11Gaf01~06 mpg
Gafffi= (1) |Gaf: EBT3 [185x85mm @ Ysld p.47
Att vs IC2@Air2 IC2[A] 0/ 400 X _|x |0ou [iIc2@XcImt
| |Gaf 1] 7:20:00 Au 45.8u, R=0 2.1-8 50s
2 AL 193u, R=0 30s
3 AL 480u, R=0 50s
4 AL 673u, R=0 80s
5 Au 45.8u(Kr), R=40(C135) 100s
6] 7:45:00 Au 45.8u(Kr), R=36(AZ ) 90s
PL HV: FIAMI p48 PL1=PL2=tkeps| 2| 2| 1] o] o[Pors(0)|R36 | 46]O |O | 100]ou |PL2(100)@Air2
plhv01- 1] 8:27:58| 8:28:40 |plhv01-01 PL1=100u#1 PL2=100u#2 700V 0:00:42 |PL1=100u#1(2111~) PL2=100u#2(2201 ~ K {&E )
2| 829:12| 8:30:15|plhv01-02 800V 0:01:03
3| 831:00) 8:31:51|plhv01-03 900V 0:00:51
4| 832:21| 8:33:20|plhv01-04 1000V 0:00:59
5| 8:34:05| 8:34:57|plhv01-05 1100V 0:00:52
6| 8:36:34) 8:40:45|plhv01-06 PL1=800V PL2=1100V 0:04:11
plhv02- 1] 9:08:48| 9:09:49 |plhv02 PL1=500u#1 PL2=500u#2 700V 0:01:01 500 500
2| 9:10:50| 9:11:31|plhv02-02 600V ni sageta 0:00:41
3| 9:12:06| 9:13:08plhv02-03 800V 0:01:02
4| 9:13:51| 9:14:37|plhv02-04 900V 0:00:46
plhv03- 1] 9:58:44| 9:59:29 |plhv03-01 PL1=100u#2 Kryou PL2=25u#1 1000V| 0:00:45 100 25
2| 10:00:07| 10:00:59 |plhv03-02 1100V 0:00:52
3| 10:01:47| 10:02:54|plhv03-03 1200V 0:01:07
4| 10:03:23| 10:04:07|plhv03-04 1300V 0:00:44
[o] 3% &R =& .49 PL1=100u#2A£5(2201 ~kfEFA) 1100VTHS
\ Thr PL1=307, 1000mV(1000VABZ)ELT=
scnEDic: ExpR FESR
scnEDic01_202203011039 30s/m p.50 IC1~I1C2=8.7-8A| 1| 1| 0| 0 o |0 |0 |0 100 |var [IC2@Air2
[ 10:39:00] 10:49:00 0:10:00[T=:ICIAN—=AYF=ofz PL2@IC2 Tt
scnEDic02 202203011056
[ 10:56:00] 11:15:00 0:19:00|I=  ICTA/N—AUF o7
scnEDic03 202203011115 IC1 HV=OFFfzo7=
scnEDic04 202203011119 30s/8 x 514
I 11:19:00] 11:54:00 p.52 0:35:00 | OK ExpR=1050
scnAtt: IC1 vs PL1
scnAtt01 202203011203 | [ p51 CAM run %&L 1] 1] o[ o] o[~ O [0 [O0 [0 [0 Jou
I [ 12:03:00] 12:15:00|Step = 1/2, /4, /6. /8. /10 0.54 0:12:00 1] 3] 0]0
|scnEDssd: EDE&cald Kr-gain T SSDEER[E AL4T2umD T
scnEDssd01_202203011234 p.51
12:34:00] 13:02:00{30s/ 5 0:28:00 PL 8K. Sor 600cps. Trig=AND| 1| 3| 0| 0| 3|PandS |[O |O |O |O |O |var |SSD@Air2
scnEDssd01-
1] 12:34:31| 12:34:50|scanED001 0.0 um 0:00:19
2| 12:35:01| 12:35:22|scanED002 25.0 um 0:00:21
3| 12:35:33| 12:35:53|scanED003 48.6 um 0:00:20
4| 12:36:05| 12:36:24|scanED004 73.6 um 0:00:19
5| 12:36:35| 12:36:55|scanED005 100.2 um 0:00:20
6| 12:37:07| 12:37:28|scanED006 125.3 um 0:00:21
7| 12:37:39| 12:38:00|{scanEDO07 148.8 um 0:00:21
8| 12:38:12] 12:38:32|scanED008 173.8 um 0:00:20
9| 12:38:43| 12:39:04|scanED009 100.8 um 0:00:21
10| 12:39:15| 12:39:37 |scanED010 125.8 um 0:00:22
11| 12:39:49| 12:40:08|scanEDO11 149.4 um 0:00:19
12| 12:40:19| 12:40:40|scanED012 174.4 um 0:00:21
13| 12:40:51| 12:41:13|scanED013 201.0 um 0:00:22
14| 12:41:25| 12:41:44|scanED014 226.1 um 0:00:19
15| 12:41:55| 12:42:18|scanED015 249.6 um 0:00:23
16| 12:42:29| 12:42:49 |scanED016 274.6 um 0:00:20
17| 12:43:01| 12:43:22|scanED017 196.4 um 0:00:21
18| 12:43:33| 12:43:53|scanED018 221.4 um 0:00:20
19| 12:44:05| 12:44:24|scanED019 245.0 um 0:00:19
20| 12:44:35| 12:44:56|scanED020 270.0 um 0:00:21
21| 12:45:07| 12:45:29|scanED021 296.6 um 0:00:22
22| 12:45:41| 12:46:02|scanED022 321.6 um 0:00:21
23| 12:46:13| 12:46:34|scanED023 345.2 um 0:00:21
24| 12:46:46| 12:47:06|scanED024 370.2 um 0:00:20
25| 12:47:17| 12:47:38|scanED025 397.4 um 0:00:21
26| 12:47:49| 12:48:09|scanED026 422.4 um 0:00:20
27| 12:48:21| 12:48:42|scanED027 446.0 um 0:00:21
28| 12:48:53| 12:49:14|scanED028 471.0 um 0:00:21
29| 12:49:25| 12:49:47|scanED029 485.9 um 0:00:22
30| 12:49:59| 12:50:22|scanED030 511.0 um 0:00:23
31| 12:50:33| 12:50:55|scanED031 534.5 um 0:00:22
32| 12:51:07| 12:51:28|scanED032 559.6 um 0:00:21
33| 12:51:39| 12:52:02|scanED033 586.2 um 0:00:23
34| 12:52:13| 12:52:33|scanED034 611.2 um 0:00:20
35| 12:52:45| 12:53:06|scanED035 634.8 um 0:00:21
36| 12:53:17| 12:53:40|scanED036 659.8 um 0:00:23
37| 12:53:51| 12:54:13|scanED037 586.8 um 0:00:22
38| 12:54:25| 12:54:46|scanED038 611.8 um 0:00:21
39| 12:54:57| 12:55:20|scanED039 635.3 um 0:00:23
40| 12:55:31| 12:55:53|scanED040 660.4 um 0:00:22
41| 12:56:05| 12:56:28|scanED041 682.3 um 0:00:23
42| 12:56:39| 12:57:01|scanED042 707.4 um 0:00:22
43| 12:57:13| 12:57:34|scanED043 730.9 um 0:00:21
44| 12:57:45| 12:58:06|scanED044 756.0 um 0:00:21
45| 12:58:17| 12:58:37|scanED045 782.6 um 0:00:20
46| 12:58:49| 12:59:10|scanED046 807.6 um 0:00:21
47| 12:59:21| 12:59:42|scanED047 831.2 um 0:00:21
48| 12:59:54| 13:00:14|scanED048 856.2 um 0:00:20
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@ _Runlog_2203Kr_220326.xIsx1_RunlLog

‘ 2203Kr ‘ ‘ ‘ ‘84Kr37+ 70MeV/u 12.3MHz(AVF) 18G-ECR 1pnA ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
Run Summary Sheet : CAMAC & LabView
| Att PL2
| |Fname start stop |Header Ender / L({ Elapse ik 100[10|/ 53 |2 | Trig |Wob |AuF |[Kap |IC1 |PL1 |[ED |IC2 |Airl |Air2
49| 13:00:25| 13:00:48|scanED049 883.4 um 0:00:23
50| 13:00:59| 13:01:19|scanED050 908.4 um 0:00:20
51| 13:01:31| 13:01:52|scanED051 932.0 um 0:00:21
52| 13:02:03| 13:02:26|scanED052 957.0 um 0:00:23
22/03/01 13:00 E—LEERT
22/03/01 13:10 (RODFIARS—F 0.40
22/03/02 9:00 FIALT
22/03/02 12:25 (S0O)FIARS— 0.40
22/03/03 11:35 FAELT
22/03/03 15:20 (MLO3)RIFA RS —b 0.40
22/03/04 14:15 FART
PL HV FIFAT#] p.61 PL1=PL2=1keps| 0| 0| 0| 0| 0|PorS(0)|O |O |O |O |O |ou
plhv04- 1] 15:29:30| 15:30:01 |plhv04-01 PL100#2 aftMLO3 1000V 0:00:31
2| 15:30:35| 15:31:22 |plhv04-02 1100V cur setting 0:00:47
3| 15:31:48| 15:32:53|plhv04-03 1200V 0:01:05
4| 15:33:16| 15:34:21|plhv04-04 1300V 0:01:05
5| 15:34:53| 15:36:10|plhv04-05 1400V 0:01:17
6] 15:37:02| 16:38:23|plhv04-06 1250V fix 1:01:21|PL1:100u#2 HV=1100->1250VIZZ & (PH-200mVIZERL7T)
22/03/04 19:45 (KONFIFARS—F 0.40
22/03/05 5:35 FIART
| | FIARTHR
|senEDic: &1 S:HIE
scnEDic05_202203051045 30s/ g p.62 IC1~I1C2=9.7-8A| 1| 1] 0| 0| O o |0 |0 |0 100|var |IC2@Air2
22/03/05] [ 10:45:00] 11:21:00 0:36:00 [ scnEDic04 B check PL2@IC2 F ik
scnEDic06 202203051133
[ 11:33:00] 12:06:00 0:33:00 [IC1#2D Y YT PL1:100u#2 —> 100u#1 [ZZF 58 PLHV=off
scnEDic07 202203051225 [ ]
| 12:25:00] 13:19:00 0:54:00[ICT#2D Y YT ——> PL500u® 35Anu [ZZ &
scnEDic08 202203051329
] 13:29:00] 13:55:00 0:26:00 IC1#2D X< T ——> PL500u#1 [CZ &
scnEDic09 202203051355
| 13:55:00] 14:17:00 0:22:00[IC1#2D <Y< T ——> PL500u#2 [CZ &
senEDic10_202203051426 p.63
[ 14:26:00] 14:55:00 0:29:00[IC1#2]D &
senEDic11_202203051510
] 15:10:00] 15:49:00 0:39:00[IC1#2 —> IC1#1[-Z &
scnEDic12 202203051550
I [ 15:50:00] 16:15:00 0:25:00[IC1#1 ++Kap50
senEDic13_ 202203051628 .64
I 16:28:00] 17:04:00 0:36:00[ICT#1 —> IC2A#2 FmIKIC2REI DY
scnEDssd: ED/E&calF(2) Kr-gain © SSDIE¥(3 Al-My 2.54uml=ZEEL=SSDT
scnEDssd02 202203051740 .64
17:40:00| 18:05:00|15s/ 5 x 525 0:25:.00 L 10K, Sor 800cps, T”_ifgff? 1| 3| o] o| 2|Pors |O |O |O |O |O |var |sspeair2
scnEDssd02-
1] 17:40:18| 17:40:33|scanED001 0.0 um 0:00:15
2| 17:40:45| 17:41:02|scanED002 25.0 um 0:00:17
3| 17:41:15| 17:41:32|scanED003 48.6 um 0:00:17
4| 17:41:45| 17:42:02|scanED004 73.6 um 0:00:17
5| 17:42:15| 17:42:32|scanED005 100.2 um 0:00:17
6| 17:42:43| 17:43:00|scanED006 125.3 um 0:00:17
7| 17:43:13| 17:43:30|scanEDO07 148.8 um 0:00:17
8| 17:43:43| 17:44:00|scanED008 173.8 um 0:00:17
9| 17:44:13| 17:44:31|scanED009 100.8 um 0:00:18
10| 17:44:43| 17:45:00|scanED0O10 125.8 um 0:00:17
11| 17:45:13| 17:45:30|scanEDO11 149.4 um 0:00:17
12| 17:45:43| 17:46:00|scanED012 174.4 um 0:00:17
13| 17:46:13| 17:46:30|scanED013 201.0 um 0:00:17
14| 17:46:41| 17:46:58 |scanED014 226.1 um 0:00:17
15| 17:47:11| 17:47:28|scanED015 249.6 um 0:00:17
16| 17:47:41| 17:47:58 |scanED016 274.6 um 0:00:17
17| 17:48:11| 17:48:28|scanED017 196.4 um 0:00:17
18| 17:48:39| 17:48:56 |scanED018 221.4 um 0:00:17
19| 17:49:09| 17:49:26 |scanED019 245.0 um 0:00:17
20| 17:49:39| 17:49:56|scanED020 270.0 um 0:00:17
21| 17:50:09| 17:50:26|scanED021 296.6 um 0:00:17
22| 17:50:39| 17:50:56|scanED022 321.6 um 0:00:17
23| 17:51:09| 17:51:26|scanED023 345.2 um 0:00:17
24| 17:51:39| 17:51:56|scanED024 370.2 um 0:00:17
25| 17:52:09| 17:52:25|scanED025 397.4 um 0:00:16
26| 17:52:37| 17:52:54|scanED026 422.4 um 0:00:17
27| 17:53:07| 17:53:24|scanED027 446.0 um 0:00:17
28| 17:53:37| 17:53:54|scanED028 471.0 um 0:00:17
29| 17:54:07| 17:54:24|scanED029 485.9 um 0:00:17
30| 17:54:35| 17:54:52|scanED030 511.0 um 0:00:17
31| 17:55:05| 17:55:22|scanED031 534.5 um 0:00:17
32| 17:55:35| 17:55:52|scanED032 559.6 um 0:00:17
33| 17:56:05| 17:56:22|scanED033 586.2 um 0:00:17
34| 17:56:33| 17:56:50|scanED034 611.2 um 0:00:17
35| 17:57:03| 17:57:20|scanED035 634.8 um 0:00:17
36| 17:57:33| 17:57:50|scanED036 659.8 um 0:00:17
37| 17:58:03| 17:58:20|scanED037 586.8 um 0:00:17
38| 17:58:31| 17:58:48|scanED038 611.8 um 0:00:17
39| 17:59:01| 17:59:18|scanED039 635.3 um 0:00:17
40| 17:59:31| 17:59:48|scanED040 660.4 um 0:00:17
41| 18:00:01| 18:00:18|scanED041 682.3 um 0:00:17
42| 18:00:29| 18:00:46|scanED042 707.4 um 0:00:17
43| 18:00:59| 18:01:16|scanED043 730.9 um 0:00:17
44| 18:01:29| 18:01:46|scanED044 756.0 um 0:00:17
45| 18:01:59| 18:02:16|scanED045 782.6 um 0:00:17
46| 18:02:27| 18:02:44|scanED046 807.6 um 0:00:17
47| 18:02:57| 18:03:14|scanED047 831.2 um 0:00:17
48| 18:03:27| 18:03:44|scanED048 856.2 um 0:00:17
49| 18:03:57| 18:04:16|scanED049 883.4 um 0:00:19
50| 18:04:27| 18:04:44|scanED050 908.4 um 0:00:17
51| 18:04:57| 18:05:14|scanED051 932.0 um 0:00:17
52| 18:05:25| 18:05:42|scanED052 957.0 um 0:00:17
scnEDssd03bad 202203051810 7¥5 4+ .64 B Ar—gain 25 7=H'. CAMACRS T ILTT X541
Gaffft= (2) |Gaf: EBT3 [185x85mm @ Ysid p.64
Att vs IC2@Air2 IC2[A] 0] 4/ 0/ 0 1 X |[x Jou [iC2@XcImt
| |Gaf 11] 18:45:00 Au 45.8u, R=25 ICHITE & B [60s
12 Au 45.8u, R=30 I 60s
13 Au 458u, R=45 | 90s

2/3R=Y



@ _Runlog_2203Kr_220326.xIsx1_RunlLog

| 2203Kr ]

‘84Kr37+ 70MeV,/u 12.3MHz(AVF) 18G-ECR TpnA ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
Run Summary Sheet : CAMAC & LabView

| Att PL2
| |Fname start stop |Header Ender / L({ Elapse ik 100[10|/ 53 |2 | Trig |Wob |AuF |[Kap |IC1 |PL1 |[ED |IC2 |Airl |Air2
14 AL 193u R=0 2[81§ 20s
15 AL 673u R=0 2[a]§ 25s
16 AL 480u R=0 251§ 30s
22/03/05 19:15 MT#RT p.64
INEIBJERE - #<F, /ML
22/03/01 9:38:00} }E(Kr) = 69.36 MeV/u 0.57 69.21MeV/u (18%ELY HY ?)
Lk,

3/3R=Y




